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Gl 316,142 0 6 0 0 0 0 0 0 0 198 121 114 340 180 236 | 10.75 | 5.69 | 7.46
il 143,500] 3 3 0 1 0 0 0 0 0 144 93 73 1259 | 205 272 | 87.74 | 14.29 | 18.95
PR 162,206] 1 6 0 0 0 0 0 1 0 115 60 54 344 85 112 ] 2121 | 524 | 6.90
ek E 13,7371 0 0 0 1 0 0 0 0 0 2 1 1 7 1 1 510 | 0.73 | 0.73
FTAL e 22,694 O 0 0 0 0 0 0 0 0 7 2 3 7 3 3 3.08 | 1.32 | 132
LA o 10,501 O 0 0 0 0 0 0 0 0 6 0 0 10 0 2 9.52 | 0.00 | 1.90
LE % 46,799 O 1 0 0 0 0 0 0 0 29 13 9 62 17 23 ] 1325 | 363 | 4.91
B R 109,298 1 0 0 0 0 0 0 0 0 46 29 24 289 79 75 | 2644 | 7.23 | 6.86
22 % 52,895 O 0 0 0 0 0 0 0 0 26 12 7 36 16 21 6.81 | 3.02 | 3.97
Ak 63649 O 0 0 0 0 0 0 0 0 20 11 12 31 23 21 4.87 | 361 | 3.30
I3+ 941,421 5 16 0 2 0 0 0 1 0 593 342 297 12385 | 609 766 | 2533 | 647 | 8.14
dh % 238,063] 2 1 0 0 0 0 0 0 0 244 106 81 1486 | 162 276 | 62.42 | 6.80 | 11.59
% 113,790] 1 1 0 1 0 0 0 0 0 178 96 69 388 124 164 | 34.10 | 10.90 | 14.41
ik 90,7471 O 0 0 2 0 0 0 0 0 42 20 14 74 23 47 815 | 253 | 5.18
YRR 101,003] 1 0 0 0 0 0 0 0 0 48 29 12 284 53 83 2812 | 525 | 8.22
EiEw 64,406 1 2 0 0 0 0 0 0 0 10 5 7 356 12 24 | 5527 | 186 | 3.73
y i E 79,001 O 0 0 0 0 0 0 0 0 27 14 7 39 9 23 493 | 1.14 | 291
R S EF 55472 O 0 0 0 0 0 0 0 0 17 9 8 29 11 13 523 | 198 | 2.34
% 73497 1 1 0 1 0 0 0 0 0 42 22 16 178 27 47 12422 | 3.67 | 6.39
W 30,845 O 0 0 0 0 0 0 0 0 6 2 1 9 1 2 292 | 032 | 0.65
X% 17,603] O 0 0 0 0 0 0 0 0 2 1 0 1 0 1 0.57 | 0.00 | 0.57
St 94,895 1 0 0 0 0 0 0 0 0 36 25 17 93 36 56 9.80 | 3.79 | 590
o] 3t 959,412 7 5 0 4 0 0 0 0 0 652 329 232 | 2,937 | 458 736 | 30.61 | 4.77 | 7.67
v 17,982 2 1 0 0 0 0 0 0 0 32 10 9 106 18 16 | 58.95 | 10.01 | 8.90
2 128,217] 1 2 0 1 0 0 0 0 0 78 56 45 656 79 176 | 51.16 | 6.16 | 13.73
2 E 186,035] 1 2 0 0 0 0 0 0 0 227 104 78 462 130 225 | 24.83 | 6.99 | 12.09
K% 77,651 O 3 0 0 0 0 0 0 0 51 18 34 108 60 39 |1391 | 7.73 | 5.02
% HEw 62,996 1 1 0 0 0 0 0 0 0 26 14 14 163 26 24 | 2587 | 413 | 381
2% 211,283] 1 3 0 0 0 0 0 0 0 104 64 60 314 105 135 | 14.86 | 4.97 | 6.39
= Tw 200,653] 2 2 0 0 0 0 0 0 0 88 48 51 329 93 106 | 16.40 | 4.63 | 5.28
5P % 81,986 1 1 0 0 0 0 0 0 0 34 21 19 132 25 43 116.10 | 3.05 | 5.24
o] 3t 966,808 9 15 0 1 0 0 0 0 0 640 335 310 | 2270 | 536 764 | 2348 | 554 | 7.90
3 2,867,641 21 36 0 7 0 0 0 1 0 1,885 | 1,006 | 839 | 7,592 | 1,603 | 2,266 | 26.47 | 559 | 7.90
&3+ 2,867,641 65 3,730 11,461 39.97




